[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

10

Ratio

iy

TT T T T T TT _n_u_n.!_q.n.l.!_u_nq.!.n_n.n.n.!.n_ul!||||!||||||||||||||L||||

0.5 d
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_mkFit_TT_base_noSel
Efficiend —— poM_mkFit_TT_retrainOldFiles_v2_8iter2_noSel

N 0.1:
N et T - "
(2] F : : : 1 :
>0.08------ FEPEPES ETPRPRPRS AU, SU S
> 3 : : : N .
e o : : : : .
S0.07F oo teme
Q F :
£0.06F ke
(] F :

0.05F- -+

0.04f oo

OY0lc| SRR

0.02F v

0.01F++---mno-

+0

Ratio
N

10 20 30
TP vert z (cm)

05

[ Efficiency vs. sim PV z |
~n 0.2
> : : : : :
T SRt S S L
S . : : : :
ZE R e
£0.04F bbb b
P E : : : :
L Rt AR SRS
.
0.08F ; ' ; '
T 200 (S TNORS RS R
0.04F ; ' ; '
0.02

efticie

............

Ratio

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


